(2)&(T2—-2)

(FRL234)
3t E x BAEHELCE

waw | prx| BB |1 R | HER ER | 28 | e | s

e | U | BUE | pow |8 AT e u| B0 san

% % T
£ H 8.3 99| A16 2.3 1.1 239 1.1 12.8 4.1 33 038 52| 187
I B 8 8.3 103]  A2.1 2.9 1.7 19.6 8.7 10.9 43 3.0 14 47| 166
TN 8.3 93] A10 16 1.1 18.0 10.6 75 3.2 2.1 1.1 47| 1.61
ERmEm 9.5 8.4 1.2 1.9 1.9 24.3 13.2 113 1.9 - 1.9 48 1.73
e 9.0 7.8 1.2 2.3 1.1 14.6 7.9 6.8 34 2.3 1.1 50 164
3w A5 BT 8.8 8.0 0.8 - - 26.3 13.3 13.3 - - - 50 154
= HNET 9.5 8.7 0.7 - - 37.0 37.0 - - - - 6.0 127
BT 6.6 11.1]  A45 - - 14.3 14.3 - 14.3 14.3 - 39| 1.05
AT 4.1 179 A138 - - - - - - - - 32| 046
J\EEET 5.2 144 A92 - - 16.1 16.1 - - - - 3.1 1.27
=D1L 48 172| A123 - - - - - - - - 30| 086
ES=1Es) 45 15.4| A109 - - - - - - - - 45 283
ST 7.0 10.1]  A3.1 - - 14.9 75 75 75 75 - 50 224

<BLEOHEBHE>

H4-FET - 3R - B IR = 1 M DB 3108 1 BIRAD A O x 1,000
BREME=(1EHOEER—1EROETE) 1071 BEAEDAD X 1,000

EER(BARWER ATRER)=E(BR- ALK/ HE (HBE+EE) # x 1,000

AR CERGFERETCE REHFERECR)=ARECHEFER - BHFHFERETE).HEH x 1,000
EERATE TS R =T IR 22 LUk D SEEE S+ B EAST A R B T8 tH BE(HH A 3+ 0T 4R 78 2258 LA 1% D B 78 30 %K x 1,000
D4R 2 258 LAt D FE R = TR 22:8 ARG D SEEE SR HH B (B A4k + 3R IR 22:B LIBE D SEEESR) x 1,000

KEFIAOFH,
EERVEOHIERT, EEFBHELKIE.

<EHEHICHW:=-ADODHE>
2 : TR23F10A1 BREHT A O (RBEEHER)
BB RUHETH - FRE23FE1081 BRAEHSTAD (BHEER)




